	Specimen
	Element
	Circular
	Radial
	Oblique
	Longitudinal
	Total
	Caudal Octant LI

	15
	Femur
	0
	2
	0
	27
	29
	0

	
	Tibiotarsus
	0
	0
	1
	36
	37
	0

	1c
	Femur
	8
	0
	1
	29
	38
	0.21

	
	Tibiotarsus
	5
	1
	2
	30
	38
	0.13

	17
	Femur
	0
	1
	0
	56
	57
	0

	
	Tibiotarsus
	0
	0
	0
	93
	93
	0

	14b
	Femur
	8
	1
	13
	153
	175
	0.05

	
	Tibiotarsus
	11
	6
	12
	155
	184
	0.06

	16
	Femur
	34
	2
	8
	85
	129
	0.26

	
	Tibiotarsus
	23
	0
	0
	82
	105
	0.22

	2a
	Femur
	42
	1
	5
	45
	93
	0.45

	
	Tibiotarsus
	36
	0
	3
	22
	61
	0.59

	21
	Femur
	6
	1
	6
	28
	41
	0.15

	
	Tibiotarsus
	12
	0
	0
	10
	22
	0.55

	23
	Femur
	29
	1
	2
	23
	55
	0.53

	
	Tibiotarsus
	17
	1
	1
	2
	21
	0.81
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